
KS Social Security Tax Cliff and Solution (HB 2542/HB 2567 - Neutral Modification) 
  

 

There is social security (SS) tax cliff in KS. When AGI is $75,000 or less, social security benefit is 

100%. Then it is 0 after $75,000. HB 2542 shows the benefit from 100% to 0 immediately above 

$100,000. HB 2567 shows the benefit from 100% to 0 with 10 steps from $75,000 to $85,000.  

 

One linear solution can be used to reduce SS benefit rates from 100% to 0 gradually with one bracket. 

A linear formula is the most simple and fair. We can design several different ranges such as $75,000-

$85,000 or $75,000-$100,000. For its effect to tax revenue, Fiscal Note from KS Department of 

Revenue is suggested.  

 

For AGI $75K and SS $25K, KS tax rate is ~5.2%. When two persons’ AGIs are $74,975 and $75,025 

($50 difference), their SS tax difference is ~$1,300, which is unfair.  

     

1. Gradual reduction between $75,000 and $100,000                           Claimed SS benefit rate         

AGI         0-$75K                 $75K-$100K               Over $100K             100% 

Rate          100%         1–(AGI-75,000)÷25,000               0   

 

Tax revenue (State General Fund) will be reduced.  

 

2. Gradual reduction between your ranges 

 

3. Tax status: AGI÷S (S=2 or 1) 

The two modification bills and original bill show there is no 

difference for different tax statuses such as Married Filing                        

Jointly (2) and Married Filing Separately (1). They are 2 : 1                                                                                                             

(double). Their reasonable SS benefit amounts should be                 AGI:            $75K      $100K 

also double. Existing social security tax cliff causes more retired Married Individuals to file separately for 

their SS benefits, which also causes more tax return numbers and increases administration cost for 

Department of Revenue. A tax status # (S) is designed with 2 for Married Filing Jointly or 1 for other 

individuals. Different ranges can be designed. For matching #1 range, its formula is:   

 

Gradual reduction between $37,500 and $50,000 (AGI÷S)               (or $45,000 and $60,000: Tax revenue?)  

AGI÷S      0-$37,500                $37,500-$50,000              Over $50,000   

   Rate          100%           1–(AGI÷S-37,500)÷12,500                0   

 

4. Tax Revenue  

The SS tax cliff can be resolved with gradual reduction from 100% to 0. Its tax revenue will be reduced 

(problem). The best situation is to balance tax revenue and budget. It may be partially balanced with 

other tax bills (increasing tax revenue and reducing related costs) such as #3 and HB 2278.  

 

HB 2278: (1) Fiscal Note/Tax Revenue: $5 million/year (0.1% / 5 %) with its implement cost: $68,991  

                 (2) 15 benefits (total value: $100 million/year / $26 million/year) 

                 (3) Tax rates: No change for many people (>$50K), slight increase (<0.0035) for a group of  

                       people and slight decrease (<0.0015) for another group of people (next-page table) 

 

 

 

For more information, contact us at johnlee@taxsimplecenter.net or 913-710-0957 

mailto:johnlee@taxsimplecenter.net


Kansas HB 2278 (2019-2020) 

(1) Married individuals filing joint returns. 

……………………………………………… 

      (F)   For tax year years 2018, and all tax years thereafter 2019 and 2020:   

……………………………………………… 

      (G)   For tax year 2021, and all tax years thereafter:    

       If the yearly taxable income ÷ S is:                            The tax is: 

       Not over $50,000 ………………………………....…... ((TI×F÷S÷A) + 0.031) × TI 

       Over $50,000 ……………………………………....….. (0.057 – (B×S÷TI÷F)) × TI 

 

       Wherein TI = taxable income, F = the number of filing periods, which is 1 (for  

       tax returns), 2, 4, 12, 24, 26, 52 or 365 on different basis (for withholding taxes), 

       S = 2 for married individuals filing joint returns or 1 for all other individuals,  

       there are two tax rate ranges of 0.031-0.04785-0.057, 

       A (constant) = 50,000 ÷ tax rate difference (1-st) = 2,967,359, and                                                                                                                                              

       B (constant) = 50,000 × tax rate difference (2-nd) = 457.5.  

……………………………………………… 

      (2) All other individuals. 

………………………………………………  

      (F)   For tax year years 2018, and all tax years thereafter 2019 and 2020:   

……………………………………………… 

      (G)   Is the same as (1) (G)   

 

                                                                         

             Comparison between Existing Tax Calculation System and HB 2278 
1. Existing Tax Calculation System: Two sub tax systems (13 months apart), 22-page withholding tables, 

                                                        8-page tax tables and tax computations  

2. HB 2278:  Two formulas to match and simplify existing two sub tax calculation systems 

                          (TI÷S÷A) + 0.031 or 0.057 – (B×S÷TI) with F=1 and S=1 or 2 

 

                         Tax Rate and Tax Differences for Single Filing Status (2018) 
Taxable income      1. Existing System    2. HB 2278 Tax Rate Difference Tax Difference / % 

5,000 156 / 5,000=0.0312 0.032685 0.001485 $7.43 / 0.1% 

10,000 309 /10,000=0.0309 0.03437 0.00347 $34.70 / 0.3% 

20,000 726 / 20,000=0.0363 0.03774 0.00144 $28.80 / 0.1% 

30,000 1251/30,000=0.0417 0.04111 - 0.0006 - $18.00 / - 0.1% 

40,000 1821/40,000=0.045525 0.04448 - 0.001045 - $41.80 / - 0.1% 

50,000 0.04785 0.04785 0 0 / 0 

60,000 0.049375 0.049375 0 0 / 0 

70,000 0.05046 0.05046 0 0 / 0 

80,000 0.05128 0.05128 0 0 / 0 

100,000 0.052425 0.052425 0 0 / 0 

150,000 0.05395 0.05395 0 0 / 0 

200,000 0.0547125 0.0547125 0 0 / 0 

500,000 0.056085 0.056085 0 0 / 0 

1,000,000 0.0565425 0.0565425 0 0 / 0 

 


